
















































































































































































Step 12: Center Truss Assembly
Part 1

A: Place two Horizontal Truss A’'s and two Horizontal Truss B’s in the notch out of the Truss Bottom Bracket as

shown in F12.1, F12.2 and F12.3.
Note bracket orientation on Horizontal Trusses

F12.2

F12.1
JV  Horizontal Truss B Note hole location
in Truss Corner
Bracket

Horizontal Truss A

dh

A\ Z4

B
&

Truss Bottom Horizontal Truss A

Bracket

Horizontal Truss B:
abd

Horizontal Truss A

F12.3

Horizontal Truss B

Horizontal Truss B

Bracket

Horizontal Truss A

Components

1 x Truss Bottom Bracket
2 x Horizontal Truss A
2 x Horizontal Truss B

support@yardistrystructures.com

60



Step 12: Center Truss Assembly
Part 2

B: Take one Truss Corner Bracket and attach it loosely to each Horizontal Truss through the Truss Bottom
Bracket using two G31 (with FW2 x 2 and LN2) per Truss Corner Bracket (F12.4 and F12.5)

Truss Corner

F12.4 Bracket

Horizontal

: Truss B

Horizontal

Truss A\

Horizontal
Truss A

Truss Bottom
Bracket

F12.5
Note hole orientation /.

Hardware
8 x @ 5/16 x 3-1/4” Hex Bolt

8 x @ 5/16” Lock Nut

16 x @ 5/16” Flat Washer

Components

4 x Truss Corner Bracket

61 support@yardistrystructures.com



Step 12: Center Truss Assembly
Part 3

C: Place Truss Tie Vertical inside Truss Corner Brackets so holes are aligned. Attach Truss Vertical Tie to Truss
Corner Brackets using two G31 (with FW2 x 2 and LN2) and two G8 (with FW2 x 2 and LN2). (F12.6 and F12.7)

D: Tighten all bolts.

F12.6 T

F12.7 Truss Tie
Vertical

Truss Corner

Bracket
Components Hardware
1 x Truss Tie Vertical 2x @ 5/16 x 3-1/4” Hex Bolt 2 5/16 x 2” Hex Bolt

8 x @ 5/16” Flat Washer 4x @ 5/16” Lock Nut

62 support@yardistrystructures.com



Step 12: Center Truss Assembly 'n"ll [%j
Part 4

E: Using two G24 (with FW2 x 2 and LN2) connect Center Truss Assembly to each Beam Assembly at the center.
(F12.8, F12.9 and F12.10)

F: Attach one Truss Rafter Tie on each side of Truss Tie Vertical using two G37 (with FW2 x 2 and LN2). (F12.8
and F12.10)

G: Attach Truss Rafter Tie to (2024) using four S12 per bracket. (F12.8 and F12.10)

F12.8
I— F12.9 1 N
l.%"::_ k (i T \ ——5
Y | pesr
= b D d =

s
Long Beam/ .

Assembly

F12.10 "
Il
Long Beam
Short Beam
@ Assembly Assembly
\Horizontal
Truss A
Beam
Assembly
F12.11
Truss Tie
Vertical

(2024)

@ Truss Rafter Tie

Components Hardware
2 x Truss Rafter Tie 8 x 5/16 x 6-1/4” Hex Bolt  2x (37) 5116 x 1-3/4” Hex Bolt

10 x @ #10 x 1-1/4” Pan Screw 10 x @ 5/16” Lock Nut

20 x @ 5/16” Flat Washer

63 support@yardistrystructures.com



Step 13: Attach Plaque and Hooks 1/85 %

J

A: Attach Gazebo ID Plaque to a prominent location on your Gazebo with two S10. This provides warnings
concerning safety and important contact information. (F13.1 and F13.2)

B: Two 50 mm Hooks are included with this unit for attaching wiring. They can be placed anywhere along the
Rafters as needed. Pre-drill with a 1/8” drill bit before installing. (F13.3 and F13.4)

F13.1

G

F13.4
k
/f
Centre/
50mm Hook—_ |
F13.3
F13.2
Note: We have provided two
50 mm hooks for optional use
. . . Gazebo
to hold in place any wires if ID Plaque
required. These hooks are
not designed to hold any
heavy products such as
lights, flower pots, etc.
Components Hardware
1 x Gazebo ID Plaque 2 x #8 x 1” Pan Screw

2 x 50mm Hook

64 support@yardistrystructures.com



YARDISTRY

Yardistry® 375 Sligo Road West, P.O. Box 10, Mount Forest, ON Canada NOG 2L1

Costco Wholesale Canada Ltd.*
415 W. Hunt Club Road
Ottawa, Ontario
K2E 1C5, Canada
1-800-463-3783
Www.costco.ca
* faisant affaire au Québec sous
le nom les Entrep6ts Costco

Distributed by:
Costco Wholesale Corporation
P.0. Box 34535
Seattle, WA 98124-1535
USA
1-800-774-2678
www.costco.com

Costco Wholesale UK Ltd /
Costco Online UK Ltd
Hartspring Lane
Watford, Herts

Costco Wholesale Spain S.L.U.
Poligono Empresarial Los Gavilanes
G/ Agustin de Betancourt, 17
28906 Getafe (Madrid) Espana

WD25 8JS NIF: B86509460
United Kingdom 900111 155
01923 213113

WWW.costco.es
WWW.C0Stc0.co.uk

Costco Wholesale Japan Ltd.

2 Kakuchi, 2 Gaiku, Kaneda-Nishi
361 Urikura, Kisarazu shi
Chiba, 292-0007 Japan
0570-200-800
WWW.C0StC0.¢0.jp

Costco Wholesale Korea, Ltd.
40, lljik-ro
Gwangmyeong-Si
Gyeonggi-do, 14347, Korea
1899-9900
www.costco.co.kr

Costco Wholesale Sweden AB
Box 614
114 11 Stockholm
Sweden
WWww.costco.se

Importado por:
Importadora Primex S.A. de C.V.
Blvd. Magnocentro No. 4
San Fernando La Herradura
Huixquilucan, Estado de México
C.P. 52765
RFC: IPR-930907-S70
(55)-5246-5500
WWW.costco.com.mx

Costco Wholesale Iceland ehf.
Kauptn 3-7, 210 Gardabaer
[celand
WWw.costco.is

Costco Wholesale New Zealand Limited
2 Gunton Drive
Westgate
Auckland 0814
New Zealand
WWW.c0stc0.c0.nz

MADE IN CHINA - FABRIQUE EN CHINE - HECHO EN CHINA

65

Costco Wholesale Australia Pty Ltd
17-21 Parramatta Road
Lidcombe NSW 2141
Australia
Www.costco.com.au

Costco France
1 avenue de Bréhat
91140 Villebon-sur-Yvette
France
0180450110
www.costco.fr

Costco (China) Investment Co., Ltd.
No. 5178, KangXin Road,
Pudong New Area, Shanghai
China 201315
+86-21-6257-7065

support@yardistrystructures.com



NOTES

66 support@yardistrystructures.com



NOTES

67 support@yardistrystructures.com



YARDISTRY

Customer Registration Card - Tarjeta de Registro del Cliente - Carte d’inscription du client

First Name - Primer Nombre - Prénom Initial - Incial - Initiale | Last Name - Apellido - Nom de famille

Street - Calle - Rue PO Box - Casilla postal - Apt. No. - App.
Boite postale

City - Ciudad - Ville State/Province - Estado/Provincia - Etat/Province

ZIP/Postal Code - Cadigo Postal - | Country - Pais - Pays
ZIP/Code postal

E-mail Address - Direccion de E-mail - Adresse courriel Telephone Number - No. de Teléfono - N° de téléphone
Model Name - Nombre del Modelo - | Model Number (from front cover) - Nimero de Modelo (de la portada) -
Nom du modéle N° du modele (page de couverture)

Date of Purchase - Fecha de Compra - Date d’achat | Place of Purchase - Comprado a - Lieu d’achat
(mm/dd/yyyy) (mm/dd/aaaa) (mmljj/aaaa)

Comments - Comentarios - Commentaires:

Mail To - Enviar por Correo a - Envoyer par courrier a:

Yardistry Online Registration - Registro online - Enregistrement en ligne:
375 Sligo Road West, PO Box 10 www.yardistrystructures.com/warranty

Moun'F Forest, Ontario, Can.ada, NOG 210 Hours/ Heures/ Horas: 8:30 am - 5:00 pm EST

Attention: Consumer Relations (excl. holidays/ hors jours fériés/ excepto los dias

Atencidn a: Servicio de Atencion al Cliente festivos)

A I'attention de: Service 3 la clientéle English and French Spoken / Anglais et frangais parlés / Inglés y francés hablado

Yardistry would like to say “Thank you” for your time and feedback.
Yardistry quiere “Agradecerle” por su tiempo y su opinién.

o4/ Yardistry aimerait vous remercier d’avoir pris le temps de répondre au sondage.
07/24/2020

- CORTAR POR LA LINEA DE PUNTOS - DECOUPEZ SUR AL LIGNE

_ _ CUTALONGLINE



